2008-2009 7TH GRADE CONTEST

Answers

29.

Just as 12 = 2x2x 3 is the product of 3 primes, not all different,
1000000 000 000 is the product of ?_primes, not all different.

A) 20 B) 24 C) 48 D) 50

29.

30.

I rode 24 km in 3 hrs. Al went twice as far
in half the time when he rode at the rate of

A) 8km/hr  B) 16 km/hr
C) 32km/hr D) 64 km/hr

31.

Which can be written as the sum
of 3 consecutive odd numbers?
A) 100 B) 99

C) 98 D) 97

32.

20% of 05% =
A)0.1% B)1%

C)10% D) 10

31.

32.

33.

Dividing %— by -g- yields the same result as multiplying % by
9 3 1
A) 2 B) 3 Oz D) 3

33.

Exactly ?_different even whole numbers are factors of 2X3x5xX7.
A) 1 B) 6 C) 7 D) 8

35.

You earn 0.5% of what I earn. I earn ? % of what you earn.
A) 2 B) 200 C) 2000 D) 20000

35.

1 1 1 1
(1—-5)><(1—§)><(1—Z)x...x(l—m)=

1 1 9 99
A) 1% B) 59 C) o D) 1%

36.

37.

Using whole number ages, if Al: Ed = 3:5, then Al+Ed could be
A) 62 B) 72 C) 82 D) 92

37.

38.

If a square has whole-number side-lengths, its area could be
A7 B8 9 DI’

39.

Of 50 people, if 20 sing, 20 dance,
and 15 do both, then ?_do neither.

A)5 B0 Q15 D)25

40.

Grandma and Grandpa danced for 20
minutes one day; for each of the next
91 days, they danced for one minute longer %
than they had on the day before. On those 92 &
days, they danced for a total of ? minutes. g

39.

40.

A) 1820 B) 5106 C)6026 D) 6072

The end of the contest @&y f
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1L

M
\L

SEVENTH GRADE MATHEMATICS CONTEST

A
_’-V Math League Fress, PO. Box 17, Tenafly, New Jersey 07670-0017

2008-09 Annual 7th Grade Contest

Tuesday, February 17 or 24, 2009
Instructions

7

m Time You will have only 30 minutes working time for this contest. You
might be unable to finish all 40 questions in the time allowed.

B Scores Please remember that this is a contest, not a test—and there is no
“passing” or “failing” score. Few students score as high as 30 points
(75% correct). Students with half that, 15 points, should be commended!

= Format and Point Value This is a multiple-choice contest. Each an-
swer is an A, B, C, or D. Write each answer in the Answers column to
the right of each question. A correct answer is worth 1 point. Unan-
swered questions get no credit. You may use a calculator.
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